
Indicator Key information 

Vapour Load 𝑉bottom = (𝑅 + 1)𝐷 − (1 − 𝑞)𝐹 

Energy Demand 

𝑉top = (𝑅 + 1)𝐷               𝐿top = 𝑅𝐷 

𝑄condenser, total = 𝑉topΔ𝐻top
𝑣𝑎𝑝

         𝑄condenser, partial = 𝐿topΔ𝐻top
𝑣𝑎𝑝

 

𝑄𝑟𝑒𝑏𝑜𝑖𝑙𝑒𝑟, total = (𝑉bottom + 𝐵)Δ𝐻bottom
𝑣𝑎𝑝

         𝑄reboiler partial = 𝑉bottomΔ𝐻bottom
𝑣𝑎𝑝

 

Operating Cost 

𝑀̇phase =
𝑄

Δ𝐻𝑣𝑎𝑝
 

𝑀̇sensible =
𝑄

𝐶𝑝Δ𝑇
 

𝑊̇pump =
𝐹𝑀𝑤,𝐹𝑔Δℎ𝑝

𝜂
 

Capital Cost 

Cost of distillation column 

Cost of heat exchangers 

Cost of pumps 

Cost of pipework and control 

Total Annualised 
Cost 

Total capital cost adjusted per year of project life 

Operating costs 

 


